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Answers

1. 37,908

2. 21,080

3. 25,428

4. 37,350

5. 16,100

6. 44,766

7. 16,107

8. 32,625

9. 11,988

10. 30,514

11. 30,456

12. 15,876

Use lattice multiplication to solve each problem.

1)
702 × 54 =

7 0 2
3

2

0

0

1

0

9 0 8
7

3
5

4
8

5

0

0

8

0

2)
340 × 62 =

3 4 0
1

0

2

0

0

0

0 8 0
1

2
6

2
6

8

8

4

0

0

3)
978 × 26 =

9 7 8
1

5

1

4

1

4

4 2 8
5

2
2

6
4

8

2

4

8

6

4)
498 × 75 =

4 9 8
2

2

6

4

5

4

3 5 0
7

3
7

5
0

8

5

3

0

6

5)
575 × 28 =

5 7 5
1

4

1

5

1

4

1 0 0
6

1
2

8
0

0

6

4

0

0

6)
829 × 54 =

8 2 9
4

3

1

0

4

3

7 6 6
4

4
5

4
2

0

8

0

6

5

7)
177 × 91 =

1 7 7
0

0

6

0

6

0

1 0 7
6

1
9

1
1

9

7

3

7

3

8)
375 × 87 =

3 7 5
2

2

5

4

4

3

6 2 5
2

3
8

7
1

4

9

6

5

0

9)
222 × 54 =

2 2 2
1

0

1

0

1

0

9 8 8
1

1
5

4
8

0

8

0

8

0

10)
418 × 73 =

4 1 8
2

1

0

0

5

2

5 1 4
0

3
7

3
2

8

3

7

4

6

11)
324 × 94 =

3 2 4
2

1

1

0

3

1

4 5 6
0

3
9

4
2

7

8

8

6

6

12)
162 × 98 =

1 6 2
0

0

5

4

1

1

8 7 6
5

1
9

8
8

9

8

4

6

8



Name: Answer KeyLattice 3 by 2

Math www.CommonCoreSheets.com

Answers

1. 37,908

2. 21,080

3. 25,428

4. 37,350

5. 16,100

6. 44,766

7. 16,107

8. 32,625

9. 11,988

10. 30,514

11. 30,456

12. 15,876

Use lattice multiplication to solve each problem.

1)
702 × 54 =

7 0 2
3

2

0

0

1

0

9 0 8
7

3
5

4
8

5

0

0

8

0

2)
340 × 62 =

3 4 0
1

0

2

0

0

0

0 8 0
1

2
6

2
6

8

8

4

0

0

3)
978 × 26 =

9 7 8
1

5

1

4

1

4

4 2 8
5

2
2

6
4

8

2

4

8

6

4)
498 × 75 =

4 9 8
2

2

6

4

5

4

3 5 0
7

3
7

5
0

8

5

3

0

6

5)
575 × 28 =

5 7 5
1

4

1

5

1

4

1 0 0
6

1
2

8
0

0

6

4

0

0

6)
829 × 54 =

8 2 9
4

3

1

0

4

3

7 6 6
4

4
5

4
2

0

8

0

6

5

7)
177 × 91 =

1 7 7
0

0

6

0

6

0

1 0 7
6

1
9

1
1

9

7

3

7

3

8)
375 × 87 =

3 7 5
2

2

5

4

4

3

6 2 5
2

3
8

7
1

4

9

6

5

0

9)
222 × 54 =

2 2 2
1

0

1

0

1

0

9 8 8
1

1
5

4
8

0

8

0

8

0

10)
418 × 73 =

4 1 8
2

1

0

0

5

2

5 1 4
0

3
7

3
2

8

3

7

4

6

11)
324 × 94 =

3 2 4
2

1

1

0

3

1

4 5 6
0

3
9

4
2

7

8

8

6

6

12)
162 × 98 =

1 6 2
0

0

5

4

1

1

8 7 6
5

1
9

8
8

9

8

4

6

8

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0


	Worksheet
	Answer Key

